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5.Potential output decreases as a result of (A)technological

improvement (B)decrcases in capital stock {(C)decreases in the
aggregate demand (D)increases in labor force (E)decreases in

the growth rate of investment

6.11 consumers decide to reduce autonomous consumption, in a
typical IS-IM, AS-AD model, (A)the AD curve shifts to. the
right (B)the AD curve shifts to the left (O)the IM curve
shifts to the left (Dythe IS curve shifts to the right (E)the
demand for investment curve shifis to the left

7.1f interest rates are extremely high, people would normally
hold more bonds and less cash, which of the following is not
an appropriate reason? (A)the opportunity cost of holding cash
is higher(B)therc is greater chance of a decline in interest
rates in the future (C)to hold bonds, there is a greater
return for bearing risk (D)as interest rates rises,
transaction costs fall

8 AR RHERIY=C(Y-T)+ [4GHNK (e, Y), dNX /de>0,
INX /9Y <0, TIUTETETRERR—EEERF? (AR EBE
HO (BYRSERIERE (COBRIHE OIBIRINEE (BB
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I. Multiple choice questions (Choose one answer only for each question.
60% with 3% for each guestion):

1. When does it make sense for a corporation to diversify its operations ?

(a) When there exists a shareholder who invests most of her wealth
in the company and owns a large number of common stock of the
company. :

(b) When there is a trend for corporations to diversify.

{c) When the corporate diversification can reduce the risk of
shareholders.

{d) When the company performs poorly on its major line of business.

(&) None of the above makes sense.

2. Which of the following should not be evaluated by using the
internal-rate-of-return (IRR) rule 7 Assume that your cost of capital
is 15%. _ _

1. =& in which there are 12 members and bids (JZ{E) are
submitted eachmonth. Youwill submit your bid in the thizd
month and are calculating the rate of return on your
investment,

11. A project with the following cash flows: Cash outflow of
$100 now, cash inflow of $150 at year 1, and cash inflow
of $200 at year 2.

ITI. A project with cash flows as follows: Cash outflow of
$100 now, cash inflow of $150 at year 1, -and cash outflow
of $10 at year 2.

(a) I
(by 1II
(c) I1I

(dy I and III
(e} 1II and III

3, Financing decisions (decisions to raise money) differ from investment
decisions (decisions to invest in projects) for which of the following
reasons ?

{a) We cannot use NPY to evaluate financing decisions.
(b) The markets for real assets are usually not as efficient as the
markets for financial assets.
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(c) It isecasier tofind positive-NPV financing decisions than to find
positive-NPV investment decisions.

(d) We cannot use option concept to evaluate investment decisions.
(e) None of the above.

4. Banks A and B are vaiuved as follows:

A B
Number of common stock 500 200
Earnings per share $80 $10
Stock price $100 $20

Bank A now buys B by offering one (new) share of A for every 5 shares of
B. That is, there are 540 shares of A outstanding after the merger. If
there are no economic gains from the merger, what is the price-to-earnings
(P/E) ratio of A's stock after the merger 7

(2)2.00

(b)1.63

(¢)1.29

(d)1.25

(e)1.03

5. Look again at the above question. Is this merger beneficial to Bank
A's shareholders ?
(2) Yes, because of higher P/E ratio after the merger.
{b) No, because P/E ratio of A remains the same and so does A's stock
price.
{c) Yes, because the size of Bank A will increase its size and so does
market share of A in the banking business.
(d) No, because A's stock price does not change.
(e) Yes, because the merger can diversify the risk of A's
shareholders.

6. You use your own money $70,000 and borrow $50,000 {at interest rate
of 10%) to invest in ABC Co. Suppose that you expéct to earn 24% on your
own money, what do you expect to earn if you put up the entire $120,000
from your own money ? Assume no tax.

(a)24%

{b)10%

(c)18.17%
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(d)15.67%
(e)None of the above.

7. You are the financial marager of a company. Assume that the expected
rate of return earned on the company’s assets is 13%. Debt-to-equity (in
market value) ratio is 1/2. Debt's return is 10%. A consultant suggests
that you increase the borrowing to the level of debt-to-equity ratio of
2/3. Assume no tax effect. Is the comsultant’s advice good to the
shareholiders of the company ?

(a) Yes, because the borrowing can increasc expected rate of return

on equity.

(b) No, because the bankruptcy probability will increase.

(c) No, because the financial risk will go up.

{d) Does not matter to shareholders.

{e) Cannot be determined.

8. In terms of real option, the cash flows from the corporate project play
the same role as:

(a) Dividends.

(b) Exercise price.

{c} Variance.

(d) Stock price.

(e} Underlying assets.

9. A project has the following cash flows and IRR:

=0 =1 =2 =3 IR

+50 -21 -30 -20 18%

Your cost of capital is 16%. What should the company do ?
{a) Accept the project.

{b) Reject the project.

{c) Cannot be determined.

(d) Does not matter to sharcholders.

{e) None of the above.

10. One possible reason that shareholders prefer higher dividends is:
(a) The market is efficient.
{(b) One bird in the hand is better than 2 birds in the bush.
(c) MM Theory is correct.
(d) Tax rate on cash dividend is higher than on capital gains,
(¢) Shareholders are afraid that managers may waste the excess cash
on negative-NPV projects.
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11. Recent research by Fama and French calls into questions the CAPM

because they find: .

(a). average seccurity returns are negatively related to the firm P/E
and M/B ratios.

(b). P/E and M/B are only two of several factors explaining average
refurns.

fc). a weak relationship between average returns and beta for 1941 to
1990 and no relationship from 1963 to [990.

{(d). a and c.

{e). b and c.

12. REXL is considering buying a company that has no leverage but an asset
of 7. The market risk premium is 6% and the risk-free rate is 2%.
If they plan to use 75% debt, what will the required rate of retum

be?

(a). 18.8%
(b)Y, 6.2%
{c). 8%
(dy. 14.6%

{e), not enough information to calculate.

13. If the securities market is efficient an investor need only to throw darts

at the stock pages to pick securities and be just as well off.

(a). This is true because there are no differences in risk and
return.

(b). This is true because in an efficient stock market prices do not
fluctuate ' T

(c). This is false because professional portfolio managers prefer to
generate commissions.

(d). This is false because investors may not hold a desirable risk-return
combination in their portfolios.

{e}. This is false because the markets are controlled by the institutional
investors,

14. The increase in the stock price afier a dividend increase is called
the information content effect because:
(a). the change in dividend was expected by sharecholders.
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(b). the dividend increase signalled investors to-adjust the
expectations of future earning upward.

(¢). the dividend change signalled investors to adjust the risk of the

firm downward.

(d). the dividend change signalled shareholders that the firm could now

payout more as they enter the mature phase of their business.
{e). none of the above. '

An announcement of 2 new equity issue may cause the value of the stock

to fall because:

(a). management signals that the stock is overvalued and the market
recognizes this and bids down the stock.

(b). the investment bankers charge high fees.

(c). the ex-issue day price drops by the after-tax amount.

(d). the underwriter always exercises the green shoe option.

(e). all of the above.

Which of the following would harm the position of a warrant holder?
(a). a stock split of 3 for 1. ’

{b). a larpe stock dividend of 20%.

{c). a large cash dividend.

fd). listing of the warrants on the NYSE.

{e). none of the above would harm the warrant holders.

A forward contract carries an obligation to perform the terms of the

contract. This is unlike a(n):

{(a). cash transaction where a service is carried out but like an
option because it is a deferred choice.

(b). option where a service is performed but like a cash transaction
where it is completed today.

{c). option because the buyer has the choice to exercise but
similar to a cash transaction in that a service is performed.

(d). hedging transaction because a commitment has been undertaken
with the forward.

- (e). speculative transaction because an obligation must be fulfilled

with the forward contract.

Concerning the Baumol model, which of the following 18 not correct
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(all other things egual)?

(a). The optimum cash balance is higher the higher are interest rates.

(b). The optimum cash balance is higher the higher are fixed order
costs,

{c). The optimum cash balance is higher the higher is the firm's total
cash requirement.

(d). Two of the above are not correct.

{e). All of the above ate correct.

19. The credit period offered is influenced by:
(a). the size of the account to receive credit.
{b). the collateral value of the goods sold,
(¢). the probability that the customer will not pay.
(d). all of the above.
(e). none of the above.

20. International corporations that borrow capital in the foreign country
of ‘investment face:
a). exchange rate risk on the investment. -
b). exchange rate risk on the residual financing.
c). cross rate risk on exports.
d}. exchange rate risk on the borrowing.
e}, swap rate risk on the repurchase.

IT. Essay Questions (40% with 10% for each gquestion):

Question 1: (1) Discuss the usefulness of option's application in the
capital budgeting decisions. (2) In what circumstances is the option
approach (in capital budgeting decisions) better than NPV, IRR, or
discounted cash flow analysis ? (3) Give an exampie of using option's
principle for capital budgeting.
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Question 2: ABC Co. is all-equity financed, Book value of equity per share
is $10. Number of common shares is 100. Based on the assets, the company
generates nei cash flow of $200 per year forever (i.e., perpetuity). CAPM
indicates that the required rate of return on ABC's stock is 10%. (1) What
is the market value of equity of ABC ? (2) Suppose that ABC wants to issue
new stock to raise money of $1,000 to invest in expanding new markets.
Based on this $1000, ABC can genertate additional $150 net cash flow per
vear forever. (That is, after the i'ssuance of new stock, ABC can generate
net cash inflow of $350 in total per year forever.) At what price should
the new stock be sold ? How many common shares should be issued in order
to raise this $1,000 ? Again, CAPM implies a required rate of return of
10% for these new common shares. '

Question 3: TSB Bank has the following balance sheet:

Assets Duration Market Value

Overnight Money 0 10 M (milliom)
1-year T-honds 0.5 20 M
Loans 1.8 50 M
Morigages 8.25 20 M
100 M
Liabilities Duration Market Value
- Checking Account 0 60 M
Short-term €D’ s 0.3 10 M
Long-term CD" s 2.25 25 M
Equity M
100 M

(1) Please calculate the duration of TSB’s assets and liabilities (no credit
if no details showed)

(2) What new asset duration will immunize the balance sheet if the duration of
fiabilities are 0.624

Question 4. FHEERETHL 5

(1) EEREZSHE
(2) Specialist Market vs. Dealer Market
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84115 .50.95 0.93 51.42 52.38 5095 7051.49
34/1/6 50 -1.87 50.95 5142 50 691931
847177 5047 0.95 50 50.95 50 69154
84/1/9 50 -0.94 50.95 50.95 50  6869.08
84/1/10 49.52 0.95 50 50.47 4857 6756.88
84/1/11 48.57 -1.92 49.52 49.52 48.57 6771.24
84/1/12 49.04 0.98 48.57 49.52 48.09  6609.5
84/1/13 49.52 097 4952 50 49.04 65824
84/1/14 49.52 0 48.52 50 48.57 65113
84/1/16 49.04 -0.96 50 50 4762 653665
8411/17 49.04 0 48.57 49.04 48.09 651579
84/1118 49.52 097 49.52 50.47 49.04  6623.52
84/1/19 49.04 -0.56 50 5142 49.04  6598.02
84/1/20 48.09 -1.94 49.04 49.52 4162 6372.01
84/1/21 49,04 1.98 41,62 49.52 4647 6431.99
34/1/23 48.57 097 49.52 50.95 48.09  6295.04
84/1/24 47.14 -2.94 47.14 48.57 4676 616779
8411125 50 6.06 47.62 50 47.62  6299.62
8411726 50.95 1.9 50 50.95 49.52  6307.85
84/2/4 52.85 3714 52.38 54.28 519 632838
8472/6 53.81 1.8 53.33 54.28 51.9 641728
84/2/7 52.85 -1 54.23 54.28 5238 6531.82
8442/8 52.85 0 52.85 5428 52.85 652674
847219 54.76 3.6 54.28 5523 53.81 654342
34/2/10 5428 -0.87 55.71 56.66 . 5428 655478
847211 54.76 0.88 54.76 55.23 5428 656524
B4/2/13 53.81 -1.74 54.76 55.23 53.81 6498.21
84/2/14 5523 2.65 5428 56.19 53.81 6504.59
84/2/15 58.09 5.17 551 58.09 5476 657625
8412116 58.09 0 58.57 59.52 58.09 6646.55
8472117 60 328 59.52 60.95 59.04  6646.25
8472118 60.47 0.79 60.95 60.95 60 665029
84/2/20 58.09 -3.94 60.47 60.95 58.09 661297
8472121 60 328 58.57 &0 58,57 6633.03
84/2/22 59.04 -1.59 60 60 58.57 6603.88
- B4/2/23 59.04 0 59.04 60 58.57 6552.95
8472724 59.04 0 59.52 60 5857 659607
8472725 - 594 0 39.04 60 59.04  6591.36
8227 5523 -6.45 56.66 58.09 5523 6388.57
8472128 55.23 0 5523 56.19 5428 6509.33
84/3/1 51.42 -6.9 54.76 5476 5142 ©6337.83
84/3/2 52.38 1.85 519 52.85 6450.39
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1 (15 %) #RIER A M K009 6 & 3 (Population Regression Function,
PRF)
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SRF) T o7 fk s 3k it | PRF » 3AEFido » HAT H T 4D 2 &
BEAET? (AHRBL-FHLBALBRIXTFAERT > Rob
7 R,)
3.(15 %) ko B BaE TETAEMIE N | PRF &5 SRF % ¢
N 10 %
¥, = 244545+ 0.5091X, » 3 HiF40 Z(Y,.—Y,.) =337.2728 »
i=1
10 2

in =322,000 - Z(X,.wf) =33,000 » $HiE TR ERE B
F=1

i=1
AMABRAERZHE? |
4 (5H) o0 PRE (BH) 3Bl MO BHEHELS D ?

5. SHo iR AKE AS280 A RHRA D ()60 pRAE (FH) FHHREIHEY

BRACM - QF -~ #HEFRAEEFXHRARERM - (£ 55 £105)
Uk IS &M IMEARES S BFERTREIRE > HANK
xBTES -

10

15

_:20E

130




-~

LANIPN. A N £33 - B e

15

200

251

30} _

= L] \'} : ~ .
# 8 5EY) TR
Appendix
TABLE Critical Values of t
l‘ﬂ

d'f' t.llJU t.USﬂ r.DIS t.OI.D t.DDS d‘f‘
I 3078 6314 12706 31821 63657 I
> 1886 2920 4303 6965 9925 2
3 1638 2353 3182 4S540 5841 3
4 1533 2032 2776 3747 4604 4
s 1476 2015 2571 3365 4032 5
6 1440 1943 2447 3143 3707 6
7 1415 1895 2365 2998 3499 7
8 1397 1860 2306 289 3355 8
9 1383 1833 2262 2821 3250 9
o 1372 1812 2208 2764 3160 10
{1 1363 179 22001 2718 3106 1l
12 135 1782 2479 2681 3055 12
13 . L350 1771 2160 2650 3012 13
14 1345 L7610 2145 2624 2977 14
15 1341 1753 213t 2602 2947 1S
16 1337 1746 2120 2583 2921 16
17 1333 1740 2110 2567 2898 17
18 133 173 21017 2552 2878 18
19 1328 1729 2093 2539 2861 19
20 1325 1725 2086 2528 2845 20
21 1323 1721 2080 2518 2831 21
22 1321 1717 2074 2508 2819 22
23 1319 1714 2069 2500 2807 23
24 1313 L7110 2064 2492 2797 24
25 1316 1708 2060 2485 2787 25
26 1315 1706 2056 2479 - 2719 26
27 1314 1703 2052 2473 2711 27
28 1313 1701 2048 2467 2763 28
29 1311 1699 2045 2462 2756 29
inf. 1282 1645 1960 2326 2576 ok
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{f a firm raises the price of its product, its towal revenue will

always increase

increase only il demand is price inelastic

increase only it demand is price elastic

remain constant, regardless of price elasticity of demand
never increase

sacop

The utility-maximizing combination of goods occurs when

the marginal utility of each good is equat

the total utitity of each good is equal

the quantity consumed of each good is equal

the amount spent on each good is equal

the marginal utility per doliar spent on each goed is equal

#opraoe

As long as the firm is not operating inefficiently, which cost always increases with
increases in output?

marginal cost
average fixed cost
total fixed cost
average variabie cost
total variable cost

oD o

4 A perfecily competitive firm will produce at an economic loss (negative profit) in the short

[

tun rather than discontinue production if there is a rate of output at which price

exceeds average variable cost
exceeds average fixed cost
exceeds average total cost
exceeds marginal revenue
equals marginal cost

5  Which of the following conditions would be least likely to lead to the market structure of

monopoly?

the firm has patent protection for certain basic production processes

ﬂ:zd firm has control over the entire supply of a basic input required to produce the
product

firms can freely enter and leave the indusiry in the long run

significant economies of scale exist, leading to declining average costs throughout the
relevant range of production

a govemment agency awards an exclusive market franchise to a firm

u 6  The demand curve facing a monopolistically competitive firm is typically

perfectly elastic .

more elastic than the demand curves facing either monopolists or perfect competitors 1
more elastic than the demand curves facing monopolists, but less elastic than the l
demand curves facing perfect competitors ’

d. less elastic than the demand curves facing either monopolists or perfect competitors

perfectly inelastic

[
5(.
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a.
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c.
B d.
- e.
- a.
b.
25]. c.
- - g,
e| TR

|15

10

20

25

30




B 5kl KA AR A A A AR R
A Eé‘i”ﬁﬁﬁﬁ% s lhE B2E

7 Asthe price paid to a specific resource increases

a. the supply of this resource will increase in the rescurce market
b. the supply of the resource will decrease in the resource rmarket
c. rescurces will shift from other resource markers to this one

d. resources will shift from this rescurce market to athers

e. resouress usiage will be unaffected

8 As a consumer’s market wage increases, the opportunity cost of her time spent in
other activities .

increases

remains constant

decreases

bends backward on itself

decreases only for small increases in wages rate

A0 o

9  Firms will increase their investment in capital

githercord

eitherdore

as long as the marginal rate of return is less than the market rate of interest
until marginal rate of return equals the market rate of interest .

as long as the marginal rate of return exceeds the market rate of interest

a0 o

10 Which of the following would lead a utility maximizing consumer to engage in 2 more
extensive search for information?

both cand ¢

an increase in the marginal cost of information
improved technolegy (e.g., Internet search programs)
a reduction in the dispersion of prices

an increase in the consumer’s wage rate

panTs

[} Which of the following would a0t be inciuded in the expenditures method of calculating

GDP?

A, consumption (personal consumption expenditures)

.b. invesiment (gross private domestic investment)

¢. government purchages (government consumption and gross investment)
d. compensation of employees {wages and salaries)

e,

net exports (exports minus impons of goods and services)

12 V.Vhic'h of the following would best represent aggregate expenditures in 2n open economy
{Le.. international trade takes place) and an active government?

C+G+X-M
C+I+(X-M
C+[+{X+M

C+I+G+(X-M)
CH+I+G+(X+M) -

fap g

13 Ifan additional $100 is spent on investment and jn the next round of spending, we have an
increase of 375, and assuming each subsequent round of spending follows the same pattern,
the multiplier would be '

0

I
8
5
3
4
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In the short run. if the econemy has less than full employment and potential output and the
aggregate supply curve shifts cutward. hen

a. price levels decrease and output increases
b. price levels increase and cutput decreases
¢. price levels decrease and cutput Jecreases
d. price levels increase and output increases
e. price levels and output levels remain unchanged

An improvement in the quality of capital would

rotate the per-worker production function upwards

make the per-warker production function flatter in slope
shift the per-worker production funcrion downward
rotate the per-warker production function downward
have no effect on the per-worker production function .

gange

Whan affect would an increase in resource ¢osts have on aggregate demand and aggregate
supply?

ageregate demand unchanged and aggregate supply shifts outward
aggregaie demand unchanged and aggregate supply shifts inward
aggregate demand shifts outward and no change in aggregate supply
aggregate demand shifts inward and no change in aggregate supply
aggregate demand and aggregate supply shift outward

If taxes change, consumption spending at each level of GDP

rises by the decrease in net taxes times the average propensity 10 consume
fails by the decrease in net 1axes times the marginal propensity to consume
rises by the increase in net taxes times the marginal propensity to consume
rises by the decrease in net taxes times the marginal propensity to consume
will fall or rise depending upon how much net taxes decrease

s apoe

An example of a capital expenditure in the present for which shifting the cost to future
penerations through deficit financing might be justified because those future generations
will also share in its benefits is

a. Social Security

b. interest on the debt

c. weifare

d. ahighway

¢. the school lunch program

The largest component of M1 is

time deposits

coins and currency combined
checkable deposits

savings accounts

money market accounts

papep

An increase in the money supply is most likely to increase planned investment by causing

a decrease in the prices of capital equipment
a decrease in the rate of interest

an tnerease in the prices of consumer goods
a decrease in the excess reserves of bauks

an increase in the value of the dollar

sao0as
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Which of the following statements most accurately reflects the views of those who advocate
an active approach to governmental economic policy?

a. the private sector is relatively stable and will correct itself if blown off couise

b. the private sector is relatively unstable but govemnmental policy can’t do anything about
cconomic problents when they arise

c. sometimes the economy is stable and spmetimes not, but either way the best policy for
governtnent is to do nothing

d. the private sector is relatively unstable and when there are economic problems the
governmeat should intervene to get the economy back on track

e. careful use of governmental economic policy can reshape the economy so as 10 create
permanent economic stability and constant full employment

"

Which of these is likely o increase the mast in 1 severe recession?

. frictional unemployment
seasonal unemployment
structural unemplovment
cyclical unemployment
empioyment

snpoe

A Lorenz curve which moves closer to a 45 degree straight line from the origin indicates

both ¢ and d

the rich get richer and the peor get poorer
increasing coucentrations of poverty

a more unequal distribution of income

a more equal distribution of income

pan oy

Economists tend to favor export promotion over import substitution for all of the
following reasons excepr that SXport promotion

increases the gains from specialization and comparative advantage
offers more protection from foreign competition to domestic producers
emphasizes rade expansion rather than trade restriction

creates stronger incentives for preducers to operate efficiently

requires less government intervention in the market

pAanoR

Government policies should be used to

a. promote the consumption of gocds that produce positive externalities

b. promote the consumption of goods that produce negative externalities

¢. ensure that private property rights are assigned to all open-access resources
d. outlaw renewable resources ' .

e. outlaw nonappropriable resources
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